mm

9.4 8.5 +0.9 1147.0 | 1127.6 | 102%

8.2 7.4 +0.8 989.0 | 1155.0 86%

7.4 6.7 +0.7 1322.5 | 1498.5 88%

8.9 8.5 +0.4 1326.0 | 1164.3 | 114%

8.8 8.4 +0.4 1187.0 | 1218.0 97%

cm
1604.4 | 1774.8 90% 491 630 78%
1637.8 | 1744.7 94% 546 794 69%
1422.1 | 1462.9 97% 974 1135 86%
1327.7 | 1466.1 91% 470 544 86%
1472.4 | 1651.7 89% 640 722 89%
1971 2)000 30 ¢ )
C ) 10
( ) 10 )

2009

2008 8

2009

7




8.2 ! 9.0 | 1990 1947
7.4 | 8.0 | 1944
1322.5mn | 1082.0mm | 1984 1944
470cm | 667cm | 2006 1954
251.0 | 254.6 | 1991.5 1943.1
5/913 | 9 | 2002.5.3 |  1950.1
4/30 14 | 10 | 2008.4.23 | 1950.1
5/910 | 1 | 2004.5.1 1950.1
1/14 39cm 50cm  ; 1970.1.17 1953.1
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hERFBAEHFER

WEEES 47412 AL IR (BEFXT) SIREES ILIRERRRE 20094 (EA214)
THRE RIEEESE 5B T et iR B =% B &
A | B BE wa | 28 T | B&S | BRE 1) =IE ERE | T8 =/ RF | FY & X T A B ELE A
hPa hPa °c E°C |E°c | °C | #EH | °C [ #H | hPa % % | #H [16A5% | m/s | m/s | #2H | m/s | B[ | #H
1 1012.7 1016.0] 992.6 19 -1.3 1.7 -4.5 1.6 23| -9.9 26 4.0 70 36 17 SSE 33| 164 S 23| 26.9] WNW 19 1
2| 1009.2] 1012.6] 981.1 14 -2.2 0.8 -5.6 8.1 14| -89 23% 3.7 70 28 15 NW 4.0] 20.0/ NNW 21| 303 NNW 21 2
3| 1009.3 1012.6] 984.0 14 1.5 5.0 -2.0 9.7 14| -6.2 3 4.6 65 21 8 SSE 4.1 15.6| SSE 6] 24.1 WNW 14 3
4| 1009.2] 1012.4] 994.6 26 1.7 12.7 33| 234 30 -1.1 1 5.9 57 11 30 NNW 4.1 15.8| SSE 21| 23.1 SSE 21 4
5| 1007.3 1010.4| 983.0 18 13.9 19.2 9.4| 284 21 3.8 15 9.4 61 12 9 SE 42| 135| SSE 30%| 24.0 SSE 18 5
6] 1004.6 1007.7| 986.6 23 17.5 21.7 14.3| 31.2 25 11.0 2 141 72 28 25 SE 4.1 16.0 S 22| 211 S 30 6
7 1003.4| 1006.4] 991.8 15 19.7 23.1 17.0] 29.1 7 14.4 20 18.2 79 45 9 NNW 3.1 12.6| SSE 15| 19.8 SSE 15 7
8| 1007.0/ 1010.0{ 995.1 21 215 25.3 18.6| 30.9 10 14.7 26 18.8 73 33 29 SE 32| 15.8 S 28| 23.1 SSE 28 8
9| 1010.2] 1013.3] 995.3 10 17.8 22.2 13.8] 26.0 2 10.0 21 13.6 67 29 27 SSE 33| 115| SSE 3| 16.9 NW 10 9
10| 1010.2] 1013.4] 9975 20 12.5 16.7 85| 235 1 24 31 9.5 65 24 4 SSE 3.7] 12.7] NNW 11] 241 NNW 11 10
11 1015.4| 1018.7] 994.6 15 5.1 8.3 22| 185 7 -1.9 3k 6.3 69 35 24 SSE 3.1 10.8] NNW 15| 195 NNW 16 11
12| 1009.2] 1012.5| 981.2 31 -0.7 22 -3.6 9.1 6 -8.9 26 4.0 68 34 14 SSE 30| 15.9| SSE 5| 26.2 SSE 5 12
=3 1009.0] 1012.2] 981.1 2/14 9.4 13.2 6.0l 31.2| 6/25] -9.9| 1/26 9.3 68 11/ 4/30 SSE 3.6/ 200/ NNW| 2/21] 30.3 NNW| 2/21] %
BiE HEX | 78 2K Eiy -3 K = EE 0 EERE
A | mf % B#% |Bf= | E= &t | _EXHE | SXIHHE | SXI09ME | SX2405/0E | 55 EAHE FATS A
h M.1/m? | 105t mm mm #H | mm | #B | mm #2H mm | #H | cm cm #H | om | #£H
1 85.9 30 4 6.0 8.2 103.0 26.5 20 5.5 14 2.0 20% 33.0 20 99 32 20 60 20 1
2 68.0 23 5 1.5 8.7 143.0 26.5 8 7.0 8 25 8 27.0 8 173 26 8x 76 23 2
3 113.5 31 0 11.7 8.0 79.0 21.0 6 5.0 6 1.0 26% 22.0 6 69 12 11 70 3k 3
4 224.4 56 4 18.2 6.3 58.0 29.0 26 5.5 22 1.5 26% 29.0 26 2 2 26 2 26 4
5 255.7 57 2 20.9 5.9 425 13.5 31 25 31* 1.0 17 17.5 31 — — — 5
6 133.1 29 5 16.9 8.0 50.0 235 11 5.0 11 1.5 23% 235 11 — — — 6
7 82.6 18 9 13.2 8.9 187.5 57.0 19 10.0 10 25 22% 57.0 19 — — — 7
8 156.3 36 5 15.9 8.1 63.0 14.0 24 8.0 24 35 23 23.0 24 — — — 8
9 183.0 49 2 15.1 5.8 35.5 15.0 28 11.5 16 9.0 16 15.0 28 — — — 9
10 127.0 37 3 9.3 7.0 125.0 29.0 9 1.5 26 2.0 26% 46.0 9 — — — 10
11 75.7 26 6 5.3 1.6 154.0 39.5 1 7.0 28% 2.0 28% 39.5 1 8 6 28 4 28 11
12 99.2 36 6 5.3 7.9 106.5 19.5 6 10.5 6 25 6 33.0 5 98 22 21 31 21 12
=3 1604.4 36 51 121 7.5 1147.0 57.0] 7/19 11.5] 9/16 9.0 9/16 57.0] 7/19 491 32| 1/20 76| 2/23 £
14 Al E] 5
H S B °c BB K =2 BHE %S B &K REE THEE | HER A
BHES BEH BRIE mm cm m/s 109 Ek Ry —
=35 =30 =25 <0 =25 <0 =25 <0 =00 | =05] =10 =10 =30 =50 | =70 | =100 =0 =5 | =10 | =20 | =50 | =100 | =10 | =15 | =20 | =30 | <15 | =85 | =40 =
1 0 0 0 7 0 22 0 31 28 19 13 4 0 0 0 0 31 31 31 31 2 0 5 2 0 0 0 19 10 0 1 1
2 0 0 0 12 0 24 0 27 27 26 25 3 0 0 0 0 28 28 28 28 23 0 8 1 1 0 0 19 7 o 0 2
3 0 0 0 2 0 6 0 24 28 22 16 1 0 0 0 0 31 28 27 22 14 0 13 2 0 0 0 16 11 o 0 3
4 0 0 0 0 0 0 0 2 17 9 7 2 0 0 0 0 3 0 0 0 0 0 8 1 0 0 0 9 21 o 0 4
5 0 0 1 0 0 0 0 0 14 8 7 1 0 0 0 0 0 0 0 0 0 0 12 0 0 0 2 6 23 1 0 5
6 0 1 8 0 0 0 0 0 22 12 9 1 0 0 0 0 0 0 0 0 0 0 8 1 0 0 1 16 13 1 0 6
7 0 0 8 0 0 0 0 0 27 18 13 6 2 1 0 0 0 0 0 0 0 0 5 0 0 0 0 21 8 o] 2 7
8 0 3 16 0 0 0 0 0 20 12 10 2 0 0 0 0 0 0 0 0 0 0 4 2 0 0 0 18 15 o 0 8
9 0 0 4 0 0 0 0 0 19 10 7 2 0 0 0 0 0 0 0 0 0 0 6 0 0 0 3 8 18 o 0 9
10 0 0 0 0 0 0 0 0 28 14 12 6 0 0 0 0 0 0 0 0 0 0 9 0 0 0 0 9 14 0] 2] 10
11 0 0 0 0 0 0 0 9 24 14 11 5 2 0 0 0 4 0 0 0 0 0 4 0 0 0 2 13 6 o] 0] 11
12 0 0 0 7 0 17 0 26 29 21 19 3 0 0 0 0 24 14 14 10 0 0 6 1 0 0 0 13 16 o] 2] 12
£ 0 4 37 28 0 69 0 119 283 185 149 36 4 1 0 0 132 109 94 87 39 0 88 10 1 0 8 167 162 2 71l &£
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= B B K =
HEHRIE=25C 0 =0.0mm 14 <HARS 8B 128 ~8H 258 >
HiE R =25C 9 <#iRM 8H4H~8H 128 > = = g 210mm |4 <#iH 7H25H~7H28H>
RS B % HES&KE=30C 3 <HAf 8 H10E~8B 128 > ISR B 5 B 3 <00mm |7 <HiRI 8H5A~8H118 >
HEEXE=35C 0 <0.1mm 15 <H#ARS 3A31H~48 148>
EE HREXE=25°C 0 =0.0mm 36 <HifM 12B4H~1H8H>
TSR = 25 — = ~
Elzz’,—i:a 2500 _ =Es |Ecmenn =1.0mm 16 <HAR 2B 108B~2H258 >
HEaxumE=25C B 58218, &8 98148, B3k 117 <0.0mm 3 <HAR 11B11E~118138>
DA -MRE B HEEXE=30C WH 68258, #2H 8A 128, Bk 49 <1.0mm 15 <3RS 3A31H~48148>
HEa&/E=35C —
HRESE=25°C —
HEHRIE<0C 12 <HAR 1B31B~28118>
ERAHAGE B 3 Hixmx:m<0°C 6 <HiR 2B16E~28218>
ERE HRERE<0C 55 <HAR 128218 ~28138>
- HEHSE<0C )8 11520H, ¥£H 38248, Hk 125
WA -FREBE HEa&a<0C B 118208, ¥ 8 38118, Bk 112
HRESE<0°C #B 11878, #£8 487H, B 152
A &SRB Z M B T H
. BE 111 <#if 12A11B~3A318> ERE [FRLUGHYY | 108278]
i iae EHRE 111 <2f 12B11B~3H318 >
& #)B8 108318, 8 4A29H, H%k 181
EEE S IH 11848, 28 48278, B%k 175
VEE B % #5K #B 11878, 8 48268, B 171
EE IE 11878, 28 48278, Bk 172
EHEE #B8 1281185, ¥ 8 3A31H, B 111




i [RBAEHREHER

WRES 47413 mB ERIR  (EHIT) [EEEL IRERTRRE 20095 (FR214)
| EHSE | RIEEESE _=_ B i AR =F2 I
Al &=t | \& | p, 2 | 9 B&s | BRE e xIE ARRE | Fi3 =/ RFE | T & K I KB R A
hPa hPa c | FEHCc|FEHe| °c |[#EB| °C #2H hPa % % |#2H8 | 16K | m/s | m/s B m/s H
1] 1009.9] 1016.4] 992.3 19 -3.1 0.2 —6.7 8.0 23] -12.7 26 4.1 81 45 28 NNE 3.1] 123 SSE 23] 193 SSE 23 1
2| 1006.4] 1013.0] 9815 21% -3.6 -0.2 -74 5.7 14] -11.6 11 3.8 79 44 13 SSE 34| 116 NW 21 19.1 NNW| 21 2
3| 1006.7] 1013.1] 9845 14 0.7 4.7 -3.5] 108 19 -8.2 3 48 74 30 25 SSE 38| 142 SSE 6] 242 Wi 14 3
4] 1006.5] 1012.9] 993.6 26 6.5 124 0.8] 229 30 -3.5 1 59 63 15 20 NW 38| 11.2 SSE 30| 175 SSE 14 4
5| 1004.8] 1011.0f 9842 18 13.0 19.2 7.8] 286 21 -0.8 15 10.0 68 15 9 SSE 41] 124 SSE 18] 20.3 SSE 18 5
6] 1002.4] 1008.4] 9879 23 16.6 21.5 13.0] 29.1 28 9.7 17 15.1 81 35 28 S 3.6] 13.1 S 23] 204 S 23 6
7] 1000.9] 1006.9] 992.1 10 18.8 23.2 15.6] 302 7 11.5 20 18.7 86 38 7 S 27] 113 SSE 15| 18.0 S 15 7
8] 1004.5] 1010.5] 995.7 21 20.4 25.2 17.1] 315 11 12.0 30 19.5 81 39 29 SSE 3.0] 134 SSE 21] 209 SSE 21 8
9] 1007.7] 1013.8] 9955 10 16.4 21.7 11.9] 250 2 52 21 144 78 33 23 S 29 9.2 S 2| 170 SE 15 9
10| 1007.6] 1013.8] 998.6 20% 11.1 15.8 6.7] 221 1 1.4 31 10.1 76 38 28 SSE 3.6] 10.7 NNE 8| 174 SW 20 10
11/ 1012.6] 1019.0] 995.0 15% 3.7 1.0 0.5] 18.1 8 -3.8 2 6.6 81 46 13% NNE 32| 118 NNE 1] 193 NNE 1 11
12| 1006.4] 1013.0] 981.8 31 —2.6 1.1 —6.1] 10.1 6] -14.2 26 4.0 78 41 17 NNE 3.3] 135 SSE 6] 243 SSE 6 12
2| 10064| 10127 9815] 2/21% 8.2 12.7 41 315| 8/11| -142]| 12/26 9.8 17 15] 5/9 SSE 34| 142 SSEl 3/6] 243 SSE[ 12/6] &
HEE |AExE| T8 | 2X | 8 2k = ElE 2 BERE
A | B8 % B#% |Bs5tE| E8 | 65t | _EXBE | BXIEHE | SXI00MHE [FRA4BHSE| A5t | SAHS ARS A
h M.I/m?2 | 105°EE | mm mm |[#B | mm | #H [ mm #2H mm | #H [ cm cm [#H | cm | #H
1 80.8 28 4 48.5 1.5 15 3.0 15 1.0 16% 11.5 15| 116 17 15 59 17 1
2 97.6 33 4 90.0 17.0 18 45 13 1.0 21% 18.0 18] 160 33 18 64 19% 2
3 148.8 40 2 59.5 13.0 14 3.5 14 1.0 23% 13.0 14 53 11 11 50 3 3
4 219.6 55 2 38.0 19.5 22 45 22 1.5 22 23.5 22 - - - 4
5 239.5 53 2 34.0 9.0 31 3.0 12 1.0 17% 11.5 12 - — — 5
6 122.5 27 5 76.0 24.5 23] 11.0 23 40 23 255 23 — — — 6
7 100.3 22 10 219.0 60.0 8] 315 8 1.5 8 60.0 8 - - - 7
8 151.9 35 6 37.0 8.5 20 3.5 23% 25 23 16.0 20 — — — 8
9 191.8 51 3 63.0 21.5 7 6.5 7 3.5 7 21.5 7 — — — 9
10 118.3 35 3 108.0 24.0 2 6.5 3 55 3 31.0 2 — — — 10
11 71.6) 25) 6 119.5 18.5 15 6.5 15 25 15 20.5 15 69 17 3 28 22 11
12 95.1 34 5 96.5 11.5 31 4.0 19% 2.0 6 155 31 130 19 19 41 24% 12
2| 16378 37 52 989.0 600] 7/8] 315 7/8 1.5 7/8 60.0 7/8] 546 33| 2/18 64| 2/19% &
— B #_ A B & - i — B&AK
B __ iz °C BB K = B & ZF®ESE B&RKXREE THES | BE A
HERES B Hix mm cm m/s 105t EZ%| =
=35 =30 =25 <0 =25 <0 =25 <0 | =00] =05] =1.0 =10 =30 | =50 | =70 =100 | =0 =5 >10 [ =20 =50 =100] =10 =15 =20 =30[<15[>85|=40] —
1 0 0 0 15 0 28 0 31 26 22 16 0 0 0 0 0 31 31 31 31 4 0 4 0 0 0 7 25 0 1
2 0 0 0 15 0 25 0 27 28 26 22 2 0 0 0 0 28 28 28 28 11 0 2 0 0 0 12 27 2 2
3 0 0 0 2 0 12 0 29 23 21 17 1 0 0 0 0 22 19 19 18 1 0 5 0 0 0 16 201 O 3
4 0 0 0 0 0 0 0 14 11 11 7 1 0 0 0 0 0 0 0 0 0 0 3 0 0 0 22 0 1 4
5 0 0 1 0 0 0 0 1 13 10 6 0 0 0 0 0 0 0 0 0 0 0 8 0 0 0 22 of 2 5
6 0 0 8 0 0 0 0 0 18 11 9 3 0 0 0 0 0 0 0 0 0 0 3 0 0 0 10 0 1 6
7 0 1 10 0 0 0 0 0 20 15 14 7 2 2 0 0 0 0 0 0 0 0 2 0 0 0 9 0] 2) 7
8 0 2 15 0 0 0 0 0 17 9 9 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 14 0] 4 8
9 0 0 1 0 0 0 0 0 19 13 12 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 of 2 9
10 0 0 0 0 0 0 0 0 26 16 16 4 0 0 0 0 0 0 0 0 0 0 3 0 0 0 11 0 1 10
11 0 0 0 1 0 4 0 14 25 18 17 4 0 0 0 0 10 6 5 2 0 0 2 0 0 0 7 14] 0 11
12 0 0 0 15 0 23 0 30 27 21 16 1 0 0 0 0 25 20 17 13 0 0 3 0 0 0 9 27 1 12
=3 0 3 35 48 0 92 Of 146 253 193 161 24 2 2 0 0 117 104 97 87 16 0 37 0 0 0 157] 108][ 16 &
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MaFES 47433

Hmd BT (BEXT)

LR REMEHREHER
SEEEL ILRERTRA

20094 (FR214F)
B &

THRIE REBEKE @ Ty AEXHIREE &%
A #w | BE | o, 20 £ | BRe | BRE &= I8 ERE | T3 &/ RE | F & X T AR EE A
hPa hPa C |FEHC[FEHC| ¢ |FEH | °C [#EH | hPa | % % | #8 |16 | m/s | m/s | FFA | 8 | m/s | FF | #EH
1 992.6| 1016.5| 994.9 19 -3.5 -0.1 -1.6 8.7 23| -18.8 26 4.0 82 48| 30% NW 3.1] 16.3 SE 23| 275 SE 23 1
2 989.3| 1013.2| 981.3 14 -4.0 -0.5 -8.5 58 14| -16.6 11 3.6 71 37 15 WNW 3.7| 14.6] WNW 14| 24.8[ WNW 14 2
3 989.7] 1013.2| 986.0 14 -0.7 3.6 -5.4 9.4 18| -10.9 25 4.4 74 34| 21x% NW 3.7| 15.9 W 14| 27.7 W 14 3
4 989.9| 1013.0/ 993.9 26 4.9 10.0 -0.4 22.0 30 -6.3 8 58 68 14 30 NW 3.4| 1741 E 21| 27.0 E 21 4
5 988.4| 1010.8| 983.9 18 12.0 18.1 6.0 27.6 21 -0.3 16 9.4 69 13 9% SSW 3.9| 15.9] SSW 18| 24.5[ SSW 18 5
6 985.5| 1007.5| 986.4 23 16.2 20.8 12.5 29.3 28 9.0 2 14.1 71 38 28 SSW) 39| 12.7 E 11| 19.3 E 30 6
7 984.6| 1006.3| 991.6 10 18.6 22.7 15.5 28.8 7 10.9 17 18.2 85 44 7 NW 3.0| 13.3)| ESE) 13| 22.9) ESE 13 7
8 988.3| 1010.0] 994.7 21 19.9 24.8 16.0 30.1 11 9.8 30 18.6 80 34 29 NW 28| 11.7] SSE 21| 195 SSE 21 8
9 991.4| 1013.6] 995.8 10 15.3 211 10.0 26.3 2 5.0 27 13.6 79 25 23 SSW 25 9.7 N 20| 15.7 N 20 9
10 991.2| 1013.8| 997.6 20 9.8 14.9 4.5 21.0 1 -0.5 31 9.6 78 39 1 SSW 3.0] 12.6] SSW 20| 21.0/] SSwW 20 10
11 995.7] 1019.0] 994.8 15 2.8 6.3 -0.5 18.2 8 -4.8 2 6.4 83 49 6 SSwW 29| 12.6 E 13| 191 ESE 13 11
12 989.3] 1013.1] 983.1 31 -3.1 0.2 -71 1.6 6] -17.8 25 4.1 81 48 10 SSW 3.3| 17.0 E 5] 26.3 SE 5 12
= 989.7] 1012.5| 981.3 2/14 1.4 11.8 2.9 30.1] 8/11| -18.8] 1/26 9.3 78 13| 5/9% SSW) 3.3| 1741 E|l 4/21] 27.7 w| 3/14] &
B |ABxE | TR | 22X | T8 g K = B E 0 F BEREE
A| whl | % | B% B48| Z8 | Aft [ BAEE [ BRABME [SX05ME [ShdBME| A% [ SXBE e A
h M.I/m? | 1073 | mm mm #H | mm | #H | mm | #H | mm | #H | cm cm #8 | cm | #H
1 50.3) 19) 11) 172.5 29.0 1 4.0 15 1.0 27%| 31.5 15| 286 42 15| 157 16 1
2 56.8) 19) 6 116.5 12.0 16 3.0 16 1.5 13| 16.5 16| 235 22 18| 165 22 2
3 107.2 29 4 71.5 12.0 14% 3.5 6 1.5 6] 13.5 6 126 19 2| 165 3 3
4 217.4 54 4 48.0 23.0 26 6.0 21 1.5 21| 23.0 26 1 1 1 87 1 4
5 235.7 52 3 33.5 6.5 12 3.0 14 1.0 14| 1.5) 12 — — — 5
6 120.9 26 5 40.5 19.5 11 4.0 14% 1.5 14%| 19.5 11 — — — 6
7 97.9 21 7 149.5) 30.0) 15 1.5) 19 2.0) 19%| 32.0) 15 — — — 7
8 159.6 37 3 55.0 16.0 21 11.5 21 4.0 21| 240 20 — — — 8
9 181.1 48 3 61.5 19.0 10 1.5 10 3.5 10| 25.0 10 — — — 9
10 111.9 33 3 158.5 28.5 2| 125 26 4.0 26| 33.0 27 1 1 31 1 31 10
11 45.8 16 9 186.0 47.0 14 9.0 14 2.0 14| 47.0 14 102 23 2 39 21 11
12 317.5) 13) 17 223.5 27.5 5] 125 6% 5.0 6] 45.5 6] 246 34 18 89 20 12
| 142241 32 75 1322.5 47.0] 11/14] 12.5] 12/6% 5.0 12/6] 47.0( 11/14] 974 42| 1/15| 165 3/3 £
[ % Al =] # H 2 B
A - B B K E B& Z®E B & KEE THEE | AR A
=535 B BHRIE mm cm m/s 103t % | £ g |=
=35 =30 =25 <0 =25 <0 =25 <0 =00| =05 |=1.0| =10 |=30| =50 | =70 | =100 =0 >5 [>10] =20 [>50[=100] =10 [>15]=20[=30[<15[=>85[=40] = =
1 0 0 0 16 0 26 0 31 31 26 23 4 0 0 0 0 31 31 31 31 31 24 9 2 0 0 5) 31 3 1
2 0 0 0 15 0 26 0 27 28 25 20 2 0 0 0 0 28 28 28 28 28 28 6 0 0 0 5) 28| 0) 2
3 0 0 0 4 0 19 0 30 29 24 22 2 0 0 0 0 31 31 31 31 31 26 12 2 0 0 9 26| 3) 3
4 0 0 0 0 0 1 0 14 15 8 3 2 0 0 0 0 12 12 11 10 6 0 6 1 0 0 22 4] 0 4
5 0 0 1 0 0 0 0 2 14 10 9 0 0 0 0 0 0 0 0 0 0 0 8 1 0 0 20 1 2 5
6 0 0 5 0 0 0 0 0 24 8 6 1 0 0 0 0 0 0 0 0 0 0 10 0 0 0 11 0)| 3) 6
7 0 0 7 0 0 0 0 0 23 18) 12) 6) 1) 0) 0) 0) 0 0 0 0 0 0 1) 0) 0) 0) 8 0]| 2) 7
8 0 1 15 0 0 0 0 0 17 12 11 1 0 0 0 0 0 0 0 0 0 0 2 0 0 0 15 0)| 4) 8
9 0 0 4 0 0 0 0 0 19 14 10 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 of 9 9
10 0 0 0 0 0 0 0 2 25 20 20 5 0 0 0 0 1 0 0 0 0 0 3 0 0 0 11 1 7 10
11 0 0 0 0 0 7 0 18 24 22 19 7 1 0 0 0 17 16 12 8 0 0 1 0 0 0 4 13| 4 11
12 0 0 0 13 0 26 0 30 30 25 22 9 0 0 0 0 31 25 24 18 15 0 10 1 0 0 4) 27 1 12
£ 0 1 32 48 0 105 0 154 279 212 177 41 2 0 0 0 150 145] 142 130( 102 78 68 7 0 0 132| 133]] 38 £
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it SRR BREHREER

MEES 47421 Ef FE O (REXT) [AREZER ILIRERTES 20094 (FER21%)
EHRE | RIEBERE 5@ ) A% B 52 JE:
Al Zw [ @ [ o, =08 Tt | BEm | BRIE Rie HIE ERE | TH =/ RE | F =K T A R A
hPa hPa °c EHC|FHCc| c |FEB| °C | #EB | hPa % % | #H | 165671 | m/s [ m/s | BR[| #H | m/s | FEM o =|
1] 1011.8] 1016.3] 996.3 23 -0.6 1.3 -3.4 6.7 23] -10.3 25 4.3 72 39 24 SSE 4.4] 15.1] SSE 10| 244 SSE 10 1
2| 1008.8] 1013.3] 981.1 14 -15 1.1 -4.2 714 14 —8.2 16 3.8 68 36 15 NW) 52| 18.7] NNW 21] 30.2] NNW 21 2
3| 1008.8] 1013.2] 986.0 14 1.1 4.1 -19] 110 19 6.0 11 4.6 68 26 21 SSE 48] 182] SSE 6] 30.9 SSE 6 3
4] 1008.5| 1012.8] 9938 26 6.6 10.5 25| 21.6 30 -1.8 1 6.2 64 14 30 SSE 44| 148] SSE 21] 2541 SE 21 4
5| 1006.5] 1010.7] 984.1 18 12.1 16.7 78] 238 21 23 6 10.0 72 15 9 SSE 4.7] 149] SSE 30| 241 SSE 30 5
6] 1003.2] 1007.4] 986.2 23 15.5 194 12.7] 270 25 10.0 1 14.5 83 37 24 SSE 54| 12.7] SSE 6] 218 SSE 30 6
7] 1002.4] 1006.5] 992.2 10 18.4 21.5 159] 25.7 7 12.8 3 18.6 88 56 17 SSE 3.7] 11.8] SSE 15| 193 SSE 21 7
8] 1006.0] 1010.1] 995.4 21 20.0 23.6 17.2] 285 10 13.6 26 19.7 84 40 21 SSE 3.6] 10.3] SSE 28| 18.0 SSE 20 8
9] 1009.3] 1013.4] 995.9 10 17.3 209 13.8] 246 2 9.9 27% 15.2 71 41 20 SSE 38| 11.8] SSE 3] 20.6 SE 3 9
10| 1009.4] 1013.7] 9974 20 12.3 15.7 8.7] 200 1 2.1 31 10.4 72 42 31 SSE 3.8] 13.4] NNW 11] 21.5] NNW| 11 10
11] 1014.4] 1018.8] 9944 15 5.5 7.9 271 17.2 7 -2.8 2 6.8 72 44 24 SSE 42| 12.4] NNW 15| 18.6] NNW| 15 11
12| 1008.4] 1012.8] 984.8 31 -0.1 2.1 -2.8 9.0 5 —6.7 18% 43 69 38 21 WNW, 45| 148] SSE 5] 2438 SSE 5 12
2| 1008.1] 1012.4] 981.1 2/14 8.9 12.1 58| 285 8/10] -10.3] 1/25 9.9 74 14| 4/30 SSE) 44| 187] NNW| 2/21] 30.9 SSE| 3/6] &
HEE | BEEx| 7B | £2X | £ K = [ E D ; SEIEE
A | B % B | B5t8 | ZE8 | &t ZAH=E SAEHE | FA109ME [EA24HE| 55t | SAHS SRS A
h M.I/m? | 105 | mm mm [#B | mm | #H | mm | #H | mm [ #£8 [ cm om |#H | om | #H
1 31.8 11 9 163.0 31.5 14 5.0 14 2.0 29 33.5 14 163 39 14 53 15 1
2 34.3 12 5 115.0) 28.0) 13 6.0) 13 1.5) 17x| 29.0) 13 118 11 3 43 8% 2
3 103.0 28 1 97.5 19.5 6 4.0 6 2.0 31 22.0 6 68 14 28 23 3x 3
4 192.3 48 4 63.0 31.0 26 1.5 21 2.0 21 31.0 26 - - - 4
5 224.7 50 5 42.5 10.5 12 2.5 18 1.0 18% 15.5 17 — — — 5
6 133.3 29 5 60.5 31.5 11 7.0 11 2.0 11 33.0 11 — — — 6
7 86.4 19 8 184.5 63.0 15| 11.0 15 3.5 15%|  63.0 15 - - - 7
8 156.3 36 3 91.5 32.5 21 28.0 21 8.0 21 46.0 20 — — — 8
9 184.4 49 2 63.0 13.5 28 1.5 8 45 9 15.5 9 — — — 9
10 114.4 33 3 85.5 16.0 2 6.0 18% 45 17 20.5 2 - - — 10,
11 38.5 13 11 170.0 36.5 14 1.5 5 2.5 1 315 14 35 18 21 16 21 11
12 28.3 10 10 190.0 215 5 7.0 5 2.0 12%|  39.0 5 124 21 20 56 21 12
& 13277 30 66 1326.0 63.0] 7/15| 28.0] 8/21 8.0 8/21 63.0] 7/15 470 39| 1/14 53] 1/15 =3
~ gl Hou . = B A H
A 2 °C B & K= B & & 5 EE=P RS FHEE | HR A
HRS HE HR{E mm cm m/s 109t E% | = z|=
=35 =30 =25 <0 =25 <0 =25 <0 [=00[=05]=10] =10 [ =30 =50 [=70] =100 [ =0 [ =5 [=10[ =20 =50] =100[ =10[=15[ =20 =30[<i5][=85]=40] = =
1 0 0 0 10 0 19 0 28 29 26 22 8 1 0 0 0 31 27 22 17 1 0 6 1 0 0 3] 28] O 1
2 0 0 0 9 0 21 0 27 27) 19) 18) 4) 0) 0) 0) 0) 28 28 28 28 0 0 10 2 0 0 4 28] 0 2
3 0 0 0 2 0 10 0 25 28 21 20 3 0 0 0 0 20 16 12 5 0 0 11 1 0 0 9] 23] 1 3
4 0 0 0 0 0 0 0 7 12 7 5 2 1 0 0 0 0 0 0 0 0 0 7 0 0 0 18 2l 0 4
5 0 0 0 0 0 0 0 0 16 10 10 1 0 0 0 0 0 0 0 0 0 0 9 0 0 0 20 0 5 5
6 0 0 4 0 0 0 0 0 22 12 10 1 1 0 0 0 0 0 0 0 0 0 10 0 0 0 9 o 2 6
7 0 0 1 0 0 0 0 0 22 15 12 7 2 1 0 0 0 0 0 0 0 0 6 0 0 0 5 0] 0 7
8 0 0 8 0 0 0 0 0 16 13 11 3 1 0 0 0 0 0 0 0 0 0 2 0 0 0 14 0 0 8
9 0 0 0 0 0 0 0 0 20 15 13 2 0 0 0 0 0 0 0 0 0 0 2 0 0 0 18] 0 0 9
10 0 0 0 0 0 0 0 0 22 18 16 3 0 0 0 0 0 0 0 0 0 0 2 0 0 0 12 0 0 10
11 0 0 0 0 0 1 0 8 25 21 18 8 1 0 0 0 8 4 2 0 0 0 7 0 0 0 4 131 0 11
12 0 0 0 9 0 14 0 26 30 26 22 10 0 0 0 0 20 17 17 15 2 0 8 0 0 0 2l 271 O 12
-3 0 0 13 30 0 65 0 121 269 203 177 52 7 1 0 0 107 88 70 51 1 0 80 4 0 0 118] X 8 -3
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it SRR BREHREER

MEAES 47411 #ES IME (REXT) [AREZR ILIRERTES 20094 (FRL214)
EHRE | RIEBERE 5@ ) LR £2 JE:
Al Zw [ @ [ o, =08 Tt | BEm | BRIE Rie HIE ERE | TH &/ AR | Ty =K T A R A
hPa hPa °c EHC|FHCc| c |FEB| °C | #EB | hPa % % |#28 | 1656 | m/s | m/s [ EE | #28 [ m/s | EH o =|
1] 1012.6] 1016.0] 992.3 19 -15 1.4 -45] 110 23] -11.2 24 3.8 69 39 31 WSW 30| 11.3] WSW 23| 19.6] WSW 23 1
2| 1009.2] 1012.6] 979.6 14 -2.3 0.7 -54 7.9 14 -8.4 19% 3.6 67 38 9 WSW 34| 140] WSW 14| 23.7] WSW| 14 2
3| 1009.1] 1012.4] 981.8 14 0.9 47 -28| 112 18 -8.0 25 42 64 23 25 WSW 33| 129 W 7] 25.8] WSW 7 3
4] 1009.1f 1012.4] 9952 26 6.6 11.2 20| 216 30 -2.6 1 5.5 57 13 30 SW 29| 133 SW 10| 242] WSW| 10 4
5| 1007.1] 1010.3] 981.6 18 12.8 18.0 79| 248 21 1.8 15 9.1 63 10 9 SW 26| 11.8] WSW 18] 20.5] WSW| 18 5
6] 1004.1] 1007.2] 985.2 23 16.7 21.1 13.5] 30.6 25 8.7 19 13.8 74 30 25 E 1.9 8.1] ESE 23] 140 ESE 23 6
7] 1003.3] 1006.4] 991.8 15 18.7 21.7 16.4] 274 7 13.9 21% 17.6 82 47 7 NE 1.9 8.7 E 13| 16.3] WSW| 8 7
8] 1006.8] 1009.9] 994.0 21 20.7 243 17.7] 284 21% 13.2 26 18.4 75 34|  29% SW 2.1 9.6] WSW, 22 17.1] WSW 22 8
9] 10100] 1013.2] 9954 10 17.3 21.6 13.4] 25.7 2 9.6 27 13.3 67 29 1 SW 24 7.5] WSW, 1] 132 NNE 20 9
10| 1010.0] 1013.2] 996.5 20 11.9 16.1 7.6] 224 1 1.6 31 9.1 64 32 28 SW 3.0 9.8] WSW, 20| 18.7] WSW 20 10
11] 1015.3] 1018.6] 995.3 15 44 1.7 1.5 193 7 -3.2 2 6.2 71 35 6 WSW 2.6 9.2 E 13| 138 E 14 11
12| 1009.0] 1012.3] 979.9 31 -1.2 1.5 -3.8 8.6 6 -9.8 26 3.9 69 40 2 WSW 31] 118 E 5] 232] WSW 28 12
2| 10088] 1012.0] 979.6 2/14 8.8 12.5 53| 30.6] 6/25] -11.2| 1/24 9.0 69 10f 5/9 WSW 27] 140 wsw| 2/14] 258 wswl 3/7| &
HEE | BEEx| 7B | £2X | £ K = [ E QRS ST
A | B % A% |B5iE| 28 | &7 ZAH=E SAEHE | FAI00EE [EXR4NHE| 55 SAEE A= A
h M.I/m? | 105 | mm mm |[#B | mm | #8 | mm | #H | mm [ #£8 | om om |#H]| om |#H
1 61.6 21 9 136.5 19.5 10 5.5 15 1.5 20%| 275 20| 161 20 24% 63|  20% 1
2 515 18 7 123.0 24.0 8 5.5 8 1.5 8] 285 8] 176 21 8 87 8 2
3 115.4 31 1 76.5 9.0 14 2.5 27% 1.0 27% 9.5 14% 94 13 24 83 2 3
4 209.9 52 4 55.0 34.5 26 5.5 22 1.5 28%| 35.0 26 1 1 26 24 1 4
5 251.0 55 2 46.0 14.5 31 3.0 12 1.0 14 18.0 31 — — — 5
6 126.2 28 7 48.5 20.0 11 5.5 14 2.0 14| 200 11 — — — 6
7 711.7 17 7 150.5 46.5 19 1.5 19 2.5 13%| 475 19 - - - 7
8 138.8 32 4 68.0 22.0 23] 135 23 4.0 23] 420 24 — — — 8
9 191.4 51 1 515 21.0 13 9.5 13 5.0 13| 21.0 13 — — — 9
10 127.7 37 2 143.0 25.5 9 7.0 10% 2.5 11%| 475 9 - — — 10,
11 65.7 23 6 155.0 32.0 1 5.5 14 2.0 16 32.0 1 - - - 11
12 55.5 20 6 133.5 17.0 18 7.0 6 2.0 18%| 225 6] 167 24 18 50 25 12
ZE| 14724 33 56 1187.0 46.5] 7/19] 135 8/23 5.0 9/13] 47.5] 10/9] 640 27] 12/6 87| 2/8 =3
i B @ H 8 & . = HEE K
A 2 °C H &K= BH&RRHEE EE=P RS FHEE | HR A
HRS HE HR{E mm cm m/s 109t E% | = z|=
=35 =30 =25 <0 =25 <0 =25 <0 [=00[=05]=10] =10 [ =30] =50 [>70] =100 [ =0 | =5 [ =10 =20 =50 =100 =10 =15 =20 =30[<15[=85[=40] = =
1 0 0 0 11 0 23 0 29 26 18 18 5 0 0 0 0 31 31 31 31 13 0 2 0 0 0 6 26] 0 1
2 0 0 0 12 0 24 0 27 27 24 23 1 0 0 0 0 28 28 28 28 28 0 2 0 0 0 5] 271 0 2
3 0 0 0 3 0 7 0 28 25 21 18 0 0 0 0 0 31 31 31 31 19 0 4 0 0 0 11 22 0 3
4 0 0 0 0 0 0 0 4 13 7 5 2 1 0 0 0 5 4 3 1 0 0 4 0 0 0 20 31 0 4
5 0 0 0 0 0 0 0 0 14 12 11 1 0 0 0 0 0 0 0 0 0 0 2 0 0 0 21 0] 0 5
6 0 1 7 0 0 0 0 0 20 12 9 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 9 o 2 6
7 0 0 4 0 0 0 0 0 26 17 15 5 1 0 0 0 0 0 0 0 0 0 0 0 0 0 6 o 2 7
8 0 0 12 0 0 0 0 0 17 11 11 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 0 0 8
9 0 0 3 0 0 0 0 0 19 12 10 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 20 0] 0 9
10 0 0 0 0 0 0 0 0 27 20 14 7 0 0 0 0 0 0 0 0 0 0 0 0 0 0 14 0] 0 10
11 0 0 0 0 0 2 0 11 26 21 18 5 1 0 0 0 0 0 0 0 0 0 0 0 0 0 5] 17] 0 11
12 0 0 0 11 0 20 0 29 29 23 23 4 0 0 0 0 28 23 17 15 1 0 3 0 0 0 4 271 0 12
-3 0 1 26 37 0 76 0 128 269 198 175 35 3 0 0 0 138] 131 119 101 60 0 17 0 0 0 136] 115 4 -3
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(14) 2009
1/1
8.6] 8.1] 7.6] 8.9 8.0 7.5 9.4 7.5 6.8 7.4
+0.5] +0.5] +0.8] +1.0) +0.5] // +0.7] +0.8] +0.2] //|
29.5] 28.8] 31.5] 32.5) 29.5] 31.6) 31.2) 30.6 28.9) 29.2)
6/25 5/21 8/11 8/10 8/10 8/11 6/25 8/11 8/11 8/11
-12.4] -13.6 -18.9 -14.8] -14.0| -20.2| -9.9 -19.8 -12.3] -21.5]
12/25 2/17, 12/26 1/25) 12/26 1/9 1/26) 2/18 1/24) 2/19
12.2 12.4 12.1 13.3 12.3 12.1 13.2 12.1 10.6) 12.2)
+0.7 +1.0) +1.1 +1.3] +0.9) // +0.9) +1.0] +0.5] //|
4.6 3.9 3.3 4.4 3.9 2.9 6.0) 2.4 3.5 2.4
+0.2 +0.4] +0.6) +0.7] +0.1] // +0.8] +0.5] +0.1] //|
0 82 83 98 79 85 96 69 97 109 99
25 0| 0| 0| 0| 0 0) 0) 0| 0| 0
0 39 35 54 35 41 53 28 44 58] 41
25 16 25| 28] 32| 26 26 37 23] 17 18
30 0| 0| 1 8| 0 2 4] 1 0| 0|
85 0| 0| 0| 0| 0 0) 0) 0| 0| 0|
0 144 152 150 143 147 155] 119 158 151 159
25 0| 0| 0| 0| 0 0) 0) 0| 0| 0|
1476.6 1506.7 1575.5 1477.8 1592.5 1580.7 1604.4 1540.4 1494.5
102 102 97 90 98 // 95 94 110]
0.1 55 51 52 49 42 53 51 66 71
4.0 3.4 3.0] 2.4 2.5 3.5 3.6 2.0 1.2 4.4
18.4] 16.0 17.6 15.4 13.8 16.2 20.0 11.7 7.1] 17.7]
WNW W W NNW| W SSE| NNW| NNW| WNW SSE|
3/14 3/14 3/14 2/21 3/14 3/6 2/21 2/21 3/14 3/6)
24.8] 26.2 25.1 23.8] 23.5 23.6 30.3 22.6 18.7] 25.7]
WNW W W NNW| WNW WNW| NNW| NW| N SE
3/14 3/14 3/14] 2/21] 2/14 3/14 2/21 2/21] 2/21] 12/5)
E) ESE) SSE) ESE) ESE) SSE) SSE S), W) SSE
10m/s 83 30 40| 14 10 45 88 4] 0| 105]
15m/s 12 1] 2) 1] 0 2 10 0| 0| 10
20m/s 0| 0| 0| 0| 0 0) 1 0| 0| 0|
30m/s 0| 0| 0| 0| 0 0) 0) 0| 0| 0|
1200.0 1177.5 943.5 953.5 880.0 880.0 600.5] 1147.0 1138.5 1087.5 1999.0 1088.5
103] 106 // 86 97 85 // // 103 91 104 113] //|
56.0) 50.0) 58.5] 51.0] 63.0) 53.0 68.0] 57.0) 56.5) 84.5) 82.0) 73.0)
7/1 7/19 7/19 7/19 7/19 7/19 7/10 7/19 11/14 6/22) 6/11] 9/7|
1 33.5 19.0] 16.0) 115 8.5 14.0 17.5] 115 10.0] 24.0) 32.0) 23.5]
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